
MATHS

BOOKS - JEE MAINS PREVIOUS YEAR

INVERSE TRIGONOMETRIC

FUNCTIONS

Others

1. If 
 then

the value of x is:
(1) 1 (2)
3 (3) 4
(4) 5

sin
− 1( ) + cos ec

− 1( ) =
x

5

5

4

π

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_p2HZTzZ7pbLl


Watch Video Solution

2. The value of 

is:
(1) 
(2) 
(2) 
(4) 

Watch Video Solution

cot(cos ec
− 1

+ )
5

3

tan− 1 2

3

6

17

3

17

4

17

5

17

https://dl.doubtnut.com/l/_p2HZTzZ7pbLl
https://dl.doubtnut.com/l/_eOAagkCQTaMX

